
SIP Required for Target Monthly SWP 

 

Mr Tushar Gandhi, aged 40 years, wants to save for his retirement. His requirement is 

Rs.1,00,000/- per month post retirement for 30 years and 50 lakh in the end. He expects to 

retire at age 60. 

 

For this, he can make monthly investments for the next 20 years. He is comfortable to invest in 

equity fund through SIP mode. He approaches you to give him a calculation for the above. 

 

 

Suggestion:  

SIP in equity fund for 20 years. 

SWP for the next 30 years from a combination of debt/balance/equity fund. 

 

 

Assumptions: 

Accumulation phase return @ 12% pa till till retirement. 

Post retirement returns to be assumed @ 7%pa. 
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Report date wont comE. 

Balance end requiremlent 50 Lacs 

 


